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| t Instructions :
This Booklct has a cover (thas page ) which should not be openad till the invigilstor gives signal
10 opén it al the commencement of the examination. As soon as the signal is received you
should sear the right side of the booklet cover carefully to open the booklet, Then proceed to
answer the questions.

This Cuestion Booklet contains |00 questions.
Answer all guestions, All guestions cany caueal minrks.

You miest write vour Regisier Number in the space provided on the top nght side of this page
Do not write anyihing ¢lse on the Question Booklet,

AnAnswer Sheet will be supplied to you separately by the Invigilator fomark the answers. You
must wrile vour Register No, and other particulars on the Answer Sheet provided, failing
which vour Answer Sheet will not be evalusted.

You will also encode your Register Mumber with HB Pencil i the space provided. 17 you do not
encode propetly or fail w encode the above infonmation, your Answer Sheet will not be
evaluated.

Each question comprises four responses (A, (B), (C) and (D). You are to seleet ONLY ONE
cormect response and mark i your Answer Sheet, In case you feel that there are more than one
cormect response, mark ihe responss which you conswder the best. In any case, choose DMLY
ONE response for each question. Your total marks will depend on the number of correct
responses marked by vou inthe Answer Sheet,

In the Answer Sheet there are four Brackets (A), (H), (C) and (D) againyg cach question. To
answer the questions vou are w mark with pencil ONLY ONE bracket of your choice for coch
question. Select one response for each question m the Question Booklet and mark n the
Answer Sheet, I you mark more than one answer for one question, the answer will be treated
as wrong. E.g. 17 for any ibem, () i the cormect answer, you have wo mark as follovws and write
B in the box provided forit. (A), [BL (C). (D) | B

The sheet before the last pape of the Question Booklet can be used for Rough Work,
For Question Nos, | to 100inall marters and in cases of doubt, the English Version is final,

Do not tick-mark or mark the answers in the Question Dooklet,
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sim 3R® oo 22° + cos AR sin 227 is

aen

a)= b b ch di ]
sin Y8 cos 22° + cos JE® sin 220
a1 by cl % dy |
| .
[ 1;;-&:-;, then sin 26 s
3 ;l
al -_i l:>i--‘—fi -;|i d) Mone of the above
25 4 &
lmﬁ':?:-. araliah =in 2 =
24 25 o ) )
al — b — i — d) &
i T :'3.1 [ T I g Hebana

aj r-ln--lrl'+_b'] h’ tan Iix__llb cl mn':! r+.l d] tan -(I— r]
Li-ay -

tan " x+tan’ y=

. " A x4+ ¥ Jx=w]
a) tan '{x+y) b) tanT(x=-y) <) tan : di tan -
|.-'.I'_I' |+.=I:_'I-'J
In any A ABC the valuse of ris
) b) A o) 2 d) 2 k.
E ] —— -
i A
ipBaaammn A,8.C &0 rdn wigling
a) s b A ::]E d =
5 A

The angle of elevation of the top of the twer at distance of 500 m from s fool is 307,

then the height of the tower s
{
a) 250 m by SMim  c) 500 Fun djsmn
J."I

o0 of garidelimig o Gangida o sfaou 307 gbps Sarashfld uahiTa,



10,

2.

alargpfan o wgn
a)250 of by 500 &f <) 500 Fy of d;%ﬂ

If arg Z =40, then arg 2 is

a) 40° by B0 e) 120° d) 90°
& an afom 40° aefse 7' o alis
a b) BOF e) 120° d) o0®
The value of i +i" +i"is
ali b) —i ¢} dy =1 :
P40 + i an wgling
i by —i gl l d) =1
If Z =5-2 and Z, =5+2i,then Z, + Z, lies on
a) Real axis b} Imaginary axis
c) The straight line v = x d) The line y=—x
If £, =5=2, 2, =542 aaflds Z +2. samoany
a) Gunls sevs b) spissnen 2uss
¢l = agan EEridsaf di ¥ = —r axgpaln B
Solwtion of equation x* +16 =01is
a) 4 b)— S E dji 4
x° + 16 = 0 @ swdunl g Liray
aM bj -4 ci 44 dy £ i
T!Hﬂmhn'nfwuunﬂmuﬂﬂllnﬂafiu
alg bip Sl | dip-g
foosd +isin &) o inglinsalids aabadlsas
aly bip ) ptg d) py

If the equation of the straight line is v = 4f3x + 4, then the angle made by the straight line
with the positive direction of r-axis is
a) 45° b} 30° c) 60° d) 90

¥ = of3x + 4 gy GprBaa’ -sebes Gpigdmeuli g Cavam
a)45° b} 30 ) 60° dj 90"

If the slope of a straight line 1s§.|hmtiuulup:uﬂh: line perpendicular to it, is
a) 273 b)-213 c) 32 dy- 32

50 GarQant qa amisey aebds, oupine Gumipiom BiGar g aniny

al X3 by= 273 £) 372 dy- 32



13, For what value of & if the points (3, 2, —4). (9, 8,—10) and (&, 4, =6) are collincar
al] 5 h) 48 ) 6 dy
(3,2, =4, (9, &, 100 (A, 4, —6) s et 05 BErEaTLgd g aafd L
iy
a) § b 48 ¢} 6 di 0
14, mmmnfhnwﬂhnnfﬂtmﬁﬂ:ﬂiﬂ5:+4_F-1]=lli'hd3.:+_1.'-=5-lil
a) (1,2 b2 1) el 1) d) None of the above
5:+4;-r13=ﬂ,]r+y—5-ﬂﬂpll|ﬁ.ﬂ#m#
al (LY B2 1) eh i1, 1) d) aapn e
|5,. ;'l I;+3-]—-—I,5=;—;1-n;,:'---il+2}+ElIﬂ[;.E,;]‘ﬂ.ﬂ'ﬂﬂﬂtiﬂlﬂﬂfﬂh
w a) 2 b) 3 c)=3 dy-2
G=2i+3j-k, bmi-jtak c=—i+2j+k ohpe (0, b, 0] = 8, el a & wing
a)2 by 3 ¢} =3 dy-2
6. If uand b are orthogonal then the value of | a+ b | —|a=b ' is
2 | b)|al =1 BF o0 & 2al -1bF)

ﬁmgm Gy Geuia it el la+ b1 ~|a-b | o wgin

a) | b laf =|bF a0 & Nal -18F)
17 Ileis-ﬂ\tm;gﬂtb:lwm;nﬂ.F:m:nnnﬂi.l
- -.I-. _-I-r - Eln-
a) f“, b) :”: €l f'r: d} f_x_k
|| || laf|&] |ant b | a b

8 s o hosb b e Gl b Ou o_dhe Ganemi askd tand adug

= = -'_-r -l-— -lk-
g b gy _eb g b g loxh]
lallb| |ai|d] laxh) a b

18, The value nl'[_a.. b, M+JJ;] 1]

a) O b) 7 e} § dy 10
[a, b. 4a+35] é wgin
ay 0 by 7 )5 dy 10
19, How many clements of the set [x/xe N and n° <100
a) O by )9 dj 10

lx/xe N and a’ < 100} e sl ahpma o giop o_demen



20,

Z1.

22

23

24,

25, Which of the following 15 the differential equation of xy=16=10

aj 0O bi 1 ch 9 dy 10
Compute AABIf A={1, 2} and & =13, 4}
a) {1,2,3,4) by {1,2) c) {4, 3} d) (1,3}
A=l 2] whped B =}, 4] Bm sendsa aailda AR aub arans
a) {1,2,3,4) by {1, 2] ) {4, 3} dj {13}
Let A be any set contmning a clements, then the number of elements in power set is

a) ¥ by 2° c)2m d) 2=
A aseugy n o geiagssh sods ESHEND S a0 sepd SHn sonpEd o d@m

oo ssellae aafmanilbans
a) 2 by 2° ) 2m d) 2"
The relation o said 0 be an equivalence relation, then it satisfies the relation

a) Reflexive b} Symmetric ¢)ransiive  d) All the above
£ edugy st o pey aefld sy Hame) Godupn Bk s

aimipaf o gy b swddn o_mey

¢l QEmtsdflume B_pay o | o i
The solution of xdy + vae =0 15

L

a) ¥ =y =e b} x4y me ¢) xyme dy—=¢
¥
xdy + wade =0 aralap susnasCapl Fudnmligs Fhay
ap .I:E"'J-':=r hi x +_|."'I=r g) xy=c dj {—nﬂ-
The particular integral of (D° =30+ jvr=¢"is
i e xe™ i
- bj — £ —— dp —
"3 "8 =3 3
(D =304 21y = e o umsbEaapy swdunigad fpiag @i
1 e’ " xe
a) = By ) e —
"% ' =53 S

dy dy dy dy
al g—+ =il bl x=—=w=10 c) p=— ymii d) pem=g=1il
[ o [ g }'dx :Fd‘

e sumsuanaupila sgy 1 - 16 =0 @ aensskaay swant

a) 1%*_?!!]' i x-:ll:-,l'nﬂ c) _1'%+.:=ll i) ,r%—rﬂfl

26,  Which of the following is not a solution of v*+ p =07

aj y=sinx b} ¥y=cosx ¢} y=3cosx d} J'-im.ﬂrl’

el cumeusmaaush gy v v-lan @iy mesvas



i) y=sinx b} y=cosx ¢} y=3cosx d) ,1.'l=5'm:+—l'
L
27 fsinxcos xdr =7

a)l by 3 cho dj None
1
jﬂirnr-:vns‘mlr & wiilng
-1

aj 1 bi 3 cj0 d) None

wil -

28, If mis odd, Then jm*mh is

x n n-2 n-4 & =1 =3 n=-5 1 x
- a) - . o b) : J O i =
=} n=3 #=3 2 n m=2 p=4 2 2
- -4 =} m= -
g .8 2 n _{1 dj" | A=3 n j___-1.-|
#=1 #=3 a=-5 2 m =2 a-4 3
n T geplusL ael oafld jm:'xdtimﬂq
5 " _H—E_u—dn_i h}"_].";."'j__._l'.i
=1 =3 a-3 2 # n=1 n=-4 2 2
¥ g =l n= =,
& L 4."54 d}" l n=3 n j...i-l
=1 a=31 n=5% 2 m =2 n—-d4 3
| 1
2%, The todal length of the curve x* 4 v =g’
) 3a bi4a c)ba d) Ba
x? +_1'T -q’ e susnmaanT Ui Guon g @ ane
a) 3a b 4a c) bt d) B

i
30, —
If +5x+6

L5 16
a) log2 bil e In{—-—] d !ag(—]
) leg ! 16 ] 15
3 v )
;I.'r‘+5.'r+ﬁ

15 16
2 bj i — —
vz b awfl2) @1 l)

31, If Fis the wdentity mainx ithen



32

33,

35.

a)"=1 b =0 c) - -l d) None of these

T aran gy wuoed] owed srala

a "= by ["=0 :H'=% d) agnfidsma
21 -1

If the determinant of the matrix |0 & —2 | s zero then b is
2 4 =3

a)l by-2 c)d dy 2

2 4 =3
apl by-2 cl4 d)2

o f21 =1
[n k -1] e sesmiluish swibdarana wllny LipnPuin aeiiso ks oy

If 4=

e

b

: d]muhw—#:um.ru
L{H" -!:] b) 1 (-a -I!!]
|Al-¢ o |AIL ¢ -—a

l('f’ "b] o lf® B
| A\ =¢ =-a |A|\=¢ a
,q=[“ b] | Al ad —Be#0 anlds A~ =

o §

1 [ & = 1 (-a b
"m[-ﬂ ] ”m[ . ]

1 (=d =b 1 (& =b
OTal-e o) ol %)
Which one of the following 15 false
a) | AB = BA| by lA" HA| chA+B=8+4  d) AB=84
S STahusufreEn a3 o anmu Seia
a) | AB =l BA | by A" =l d| c) A+ B=B+4 d) AB=584

il L.
Il ¥=log, x then £

| 1 |
.JI hl:ll:rl_s l;];l-ng,ﬂ djx

I 3w log. x mellds %. ol gl



36,

v

1K,

39

41.

L wlioge o) shoga dia
X X I
fizxi=x|+jx=1]|0s

a) continaous at x = 0 only b} continuous a1 x =1 oaly

¢) continuous at both ©=0 and x= | d) discontinuous a1 x =10,

Fix)= x|+ |x-1| asp siry
a) 1 =10 s yshaftdso ol Fo Gepa hrfiurangy
b} x =1 adm ysnafuls ol G G rsfurag
¢) x=0, x=| adep hailsaild Gem rkdflumagy
d) 1 = 0,1 geng el safld GarrFFuDng

K v= Acosdx + Bsindxthen

:i_r;-d-lﬁj':l]' by, =16y =0 ¢ ¥, +dw=0 d) ¥, =dy=0D
yv=Acosdx + Bsindx aaild
a} y, +16y=0 b) y, —16y=0 el yy+dy=0 dh ¥, =4y=10
If x=acos’ y-asin‘rth:u%
a) cots b} = cots c) tany d) —tant
dy
] i } W —
F=acos I, yv=asin [ asfdé .
a) codr b} — cot s c) tan# dj = tan
The veriex of the parabola ¥* = 4x+2 is
a) (2, 0) B2 e [-{;.u] d) [“’“z
P =dx+ 1 aap uresoaubSa ok
242,0) N2 o [—-;.n] {"(""E
F ] i
The distance between the direchions of the ellipse L:+ ;: =la = h)
@
a) 2ae b) ae g2 &=
L3 e
R
%+%=ua}h}nm§wlmmmlmmm
i
a) 2ae b) ae c}:."_n dy =
L3 e
Let ¢ be the eccentricity of an ellipse then
ale=0 bhe=1 cle< | dje=1

¢ aanug e L EFee amnw Smprd aafld



42.

43

435,

dn,

47,

ahe=10 b= | cle<] die=1

The angle between the asymptotes of the hyperbola 'T—;--hL_:lI ks
]

) itﬂ"E] b} zur'*[%:] ¢) 2un'{e) d) lsﬂ:"[%]

1 |
MW%MW{F—{Tﬂ

a) Jm"[ﬁ] by zw'{i] &) 2t ”(e) o) hu"[i'-]
a a h

From a well shuffled pack of 52 cards, two cards arc taken at a time, {without repetition)
the probability to get both as Aces is

32 118 I 5

“E h..'-.'_z] ﬂﬁ I!]'E

52 il Fae Gaash Feng Smeobslnn | sl gallmbs (FSleind ameusmio
ik nidaon g ppannuidn) g3y mewdhfd FLGES gaflnbes Hrahh LG
abasiubdama. Eranbi Aces aumsupbaren flapmamy

- AT S I

221 221 221 221

The limiting position of binomial distribution as poisson disiribution is
:Jn—q-H;.F-i-U';n.Fnﬁ b}n-l-ﬂ:F-*H;nFW%

gl m=toi P = minf=4 din=be P nP=1
LT LM 688 LT haei) @7 Mflypley Ll a ahdUanauust o e

a) m—s o P OnP =ofd b}ﬂ—i'll'F—}w;uF:r-i

C)R=so P mnPud dip=ePsOnPmd
The mean is 5 and variance is 9 for a binomial distribution is

a) true b} ot possible chpossible ) probability
@1 FapiguTausish sl S Dok S uTaubug Y Saug

a) G b} G g € Gurmbgan di B aghada

If X is a continuous random variable the value of :[fl:}-n‘: is
a1 by ch Fix) dyi.5
X asugy GerLrhdwman mosumiiiy warl el ?{ﬂ:]-:tr is

a)l By ¢y Fix) dyi.5

Find the standard deviation of first # natural mambers



n-1 il =1} Iu:—l il 41
L BT h}'J T BT YT

pmeo n Swod: eaksalid i adoaad
n-1 [min=1) nt =1 n+1
W YUraio%ym e
4K, Find the value of mode if Mean = 10 and Median = 15
a) 20 b} 15 ch 25 dj 10
agned] = 10, Beflane = | Sadnprd sepss pah
a) 20 b i35 )25 dj 10
49. Four friends take an 1Q Test. Their scores are 96, 100, 106, 114 which of the following is
e’ .
) The mean is 103 b) The mean is 104 ¢) The median is 10

al) The median s 106
e HeT e syfag S Guriguis Genamasanis ag ofl!
a) sgasdl 103 b syasd 104 ¢} B Banee |00
dy BenLfanic |6
0. The variance of the following data 2, 4, 6,, 8, 10 is 10. If these datas are multiplied with
the mumber 2 then the vanance 1s
aj 20 b 30 140 dy I
2, 4, 6. K, 10 aep aahseld disobe abass sgrsfl 10 g aehmamn 7 5560
Gumbdmnéi sage slehs anbss sgrad
a) 20 b 30 cl 40 di 10
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PHYSICUS

I. When a rod is charged by rubbing .
a) charges are produced in it b} charges are distributed in o
w, ¢ Both {a) amnd (b) ane correct d} {a) is wrong (b) s comect
Cpldugend argh’ L el ijh §aregd
o) dlirgc b s manistiufdape b) dagrc L dsd udipsafidsiuGdog
chapp wrppopd Bhew di(a) geug (b) =f

2, The unit of electric ficld intcnsity is

3 NC? by NC e} NC d) Vm
dleryed degalla smm _
ayNC™ b} NC ) NC™ d) Vim
3, The field at a point at a distance *x” due to an infinite long straight charged wire s
. = ] — _
8 £ m RiTEyr? b} b = ERigx? L £ InEE d) E 2w,
Cprrar gppaiar farb Gerar. dagreod Gupp sbduilend qpuBn e u
o AL | PERC iy 8
a) E= dmEgr? bl E= Eagd o F = IMERY d) E= 2wt

4, Xerox copying maching is working on the pnnciple of
a) elecirs: force

b) magnetic force
¢ electrosiatic force of altraction d} cemripetal force

Sfasusiiy pad ahdispdle uuaufh alems
a) e aflans

b} s eallas
o) Ml derafod allas d ewowGpnde ales

5, In the case of insulators, as the lemperature decreases, resistivily
a) decreases bl increnses

€} remams constanl d} becomes rero
Gaoudee gepuyd Curg Sessiyl dunnessfia ganllagome o
a) genpayd b) siflafidgd ) wrguing d) syflungid

6, The expression for Ampere’s circuital law s

B disuHy, vi§F.dl=spugly c)fBxdl =poHy O Fxdl = g by
bt spp allflésna sodaunf

I}j‘ium=ﬂnﬂu h]ﬁﬁa=ﬂn!n ;]!ErdT:#.qu d!ﬁﬂ_x’m:#ﬂrﬁ



7. To convert a galvanometer into a volimeter a ___ resistance is connected in ___ with it

a) Low: series by Low; parallel i) high: series d} High; parallel
sndaan Food gaap Cardc Soo s vahp i gL gdE@p
Baeris Caarfo

a) @enp Sdgme; Ggmyrs b} meap dagac, uis Boardla

¢) widlsrge; GEm_rra d) e whldrgee . vis Fenawc i

. An emf of 12V is induced when the curremt in the coil changes at the rate of 40 :"'-‘3""- The
co=eTieient of wlf induction of the coil is

aj(kI H b 0003 H c) M H di 4.8 H

Eimhﬁ“ smafld uryd darlarc b alamsds 40A5" adp afsifd wrpgd

g Ser_lufd daefuds alas 12V oefld, sabdé smefld g
FraL_d o

aj03 H b 0.003 H cp MIH di 4.8 H

&, The part of the AC generator that passes the current from the codl to the external circuit is
a) fiekd magnet b} split rings < slip ramgs dj brushes
andld apefia @epy ypd sppds JaCan . fos unué Sedub wmygles
bl el pflaier ooy
a) yardanhsb b Werayuce sumerwib
€} plpey uanamun sd ) gaflenssar

10.In a long solenoid, when its length and nuasher of tums are doubled then its self induction &
a) labved b) double ch remains constant ) incrensed four time

far. widsmdar gafd, smafla oaraflimsuyd spa forged BE
wLkanand spd gandd grered oan

1} unghurs @enpuyb b @y oL disr b
¢l erdually oTpELpl SenL g d} el Wi Resn D

11, When a drop of water i miroduced between the glass plates and plano convex kens in
Mewlon's ring syvstem, the nng syslem

aj contracts b} expands ) remanmns same d) first expands, then contracts

e s, s b SLBhmb sULé malDsdmb
ey S ol Ty

1) smiigd b effluecyd clerprg ) gppdd aiflwenc uh, ey somimn
12, The Raman frequency observed from Raman effect

1) i positive for Stoke's lines b) is negative for antistoke’s lines
¢} does not depends on the frequency of ight  d) All the above

Brrwer allearalla. @rewe FooGuwtsd

a) @wGord aflsmis Cpd Fand b gy ey doGurid wllagmds afit Bed
cluBd gefuls sgialims sripgsde d) Copmfu smaiyhb



I3, The condition for getting dark band due to interference on thin films
a) Xy = [Ell-1-'l]'|%i Bl lutcosr=nk € Eptmnct{?nui};l di Xy :tr"—;i

Qi gRsaé Pagb spidc@ elmaald smbur el dolushsne
Slugsmen
aj X, = (Zn + l::lnTl b 2t cos 1 o=l cl 2ptm=r={zn—1}g d) X, =?

14. In an X-ray twibe, the intensity of the ematied X-ray beam is increased by
a) incrensang the filament current b} decreasing the filament current
i} increasing the targel potential d} decreasing the targel potential

X-agf gpmid QaeliGufn X-sdisaa dsfales adang sflsefldsonh?
a) daafiepuls daCancu ifoe syflsfiouss pab !

b) e aflenpuller SlarCarr L fdoew gepliuga apaib

o) Busder Bedremgispbme Ssflusd e

d) @wdda Jdaaypisifom gopluuga pab

15, The chromum wns doped in the ruby rod
a) absorks red light b} absorbs green light
) absorbs blue ligh d} emit green hght
mull gared o drar glrmiy soueflad
a) fady geflew o Csamb bl ukes geflew e samib
¢l fo gaflew o samib d) udene geflaw o ulaph

16. The wavelength of the natter wave s mdependent of

a) mass b} velogity ) momenium d} charge

umOEunimaflan symafarh agmand snfjssdeaT?

a) fleop b fleee Gassi ¢} a- Bgib d) Dergrioib
17, The rehation falling on the photecell in burglar alsrm is

aj IR rays bl L'V ravs c) X-ravs d} y -rays

ﬁhﬁ‘ Sfiaiiy wefllou Juiss Aeind gel el Saswida Iy alypb
BT

) IR sglfaar b) UV aglfas ¢} X-agad d) y-agifad

I8, An glectron mass m and charge ¢ accelerted from rest through a potentaal of ¥V volt axd
then its final velocity is

nﬁ b J{E ) E dy ==

m flenpupb & Wargal gl Gerdre g aeilgrd gla Peauld Bmbg
V dlaanpis Capuriyand pHisiufd Cung sd Epd HesCash
a) E b) J;'—: o) |2 4

[, The ravs which are having high penectrating power is
a) a-rays b} f-rays cl p-rays ) newinons

o (e flper sgsipes o sglfad
a) a-sfifad b} f-aghfaa ) y-mght s d) Py grasdr



. OF the following, which is a moderator?
a) Boron carbade b)) Ceramic ¢) Beryllium d) Heavy water

dpiaar wppd Ty gl iumen?
) Gungnes afeud b werurar.l Gurmd o) Quiaudb d) sanifd
21. An example of n-type semiconductor is

a) pure germanim
¢} silicon doped with phosphorous

n-ams mops_ifis oo ohigisnd

a) giu Qgiosaiiud b) gaw Feldsnds

¢} undouTe e Enluouc Gpgdronafiesd di Cumrman sl @i o g homafiub
2%, In commen emitter {CE) amplifiers. the phase reversal between put and output voRages

b) pure silicon
d) germanium doped with boron

B =
a) 0¢ b 90° ) 270° d) 180°

Qung e uiipuund{CE) Gumbd garfla wael wigd GeaflulF
daegpshsmis Boulu o e sl Saugun
dy 1807

a) ¥ b c} 2T0F
3%, In Common emitler ransistor circuit, ihe hase current (1y) of the transistor is 50pA and
the votal currend (1) i 25mA. Then the current gain
a) 50 by 500 c) 20 d) 200

arflde it apild Sy ami e Garmiib (1s) S0pA
15mA erali, g Walarcil Cumdsh
dy 200

g Gung e dplund wom
whpd ghurds eGarm b (1)
a) 50 T SOHF ¢} 20

14, In T.V. transmission, the picture should not be scanned during the retum jourmey of the
following scanning. This is done by
a) blanking pulse b saw tooth potential
&) vertical synchronizing pulse

&1 horizontal synchronizing pulse
e, aufld sarCarns Lo yerafl @bl augmih Gung

Gpreassm. fl Ugo

aps p@ v bapd widsdCarmcplids tufafime, Bsps
Gle g sluBh e amigsso

a) wen Ui gie Oy b Brboduds Sddaaapiss

o) des_ggar Bwesy Qurpshgaly d) Cehsip Besa

25, Through which mode of propagation, the rudés waves can be seni from one place o

anather
a) ground wave propagation b} Sky wave propagation
dy All the sbove

¢} space wave propagaton
Cun smusma giicjfdioss viCorfifdbe smiu o e

uwerLfipg?
b aumelr Jwene LT

8) BT SR LTey S
o) Gauef] Swma Ura S d) e Spemad g
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CHEMISTR?Y

1. Which of the followmng molecule can ot form?

a) H: b} He: ch N; dj 0%
fpésar. T poiap e maurufloma’
2} H; b} He: c) Nz d) Oy

L

2, Electro negativity values of the elements are used to predict
a) bond order b} atomic radmus ¢) onisation energy ) polarity of bonds

saflichsalle slwdisrre saffps cfoyaa pad sflay

a) JenawJyfand bl e <MD
o) geuahurEsh g ops d) Jenerliysafla poaayph o
3. Electronic configuration of 14" group element (carbon family) s
a) ns'np’ b ns'mp’ ¢hns'mp’d d) ns*np'
'rdm* pafiundacflar abedl rrd ey
a) nsnp k) ns'np! ¢} ns'np’d d) ns"np’
4. The pereentage of gold in 20 carat pold s
a) 83 3% b 91 .6% ch 90% d) B7.5%
20 mrye plesgdle, shagdla #galsi
ah B33% b} 91.6% ch 9% d) B7.5%
5, Which one of the following is used m dyeing collon, i bead storage batieries and as
catalysi?
a) Uranium salis b)) Thorsum salis ch Cerium salis i Mish metals

umddlend srudflaph, Wdr Ceflly, Qoo Aaswdsald Jdearlas
wrpflaerraah LwduBuame

o) yGrafiud e Oysedr bl Gerflend s Gy
c) Fifwd e liysdr d) Heip o Canrsd sd
6. EDTA is used in titrations and as _ __ agents
a} precipiation, colorimetry b} complexometric, precipilating
¢} redox, masking d} comglexometric, masking
EDTA g am gmb urf§sad snyaflunrs vwauBdps.
a) el punay, PpbsrcHiib bl gemaraalofod o manrawdld. alpuge

clopp ghds, weply d) eemerayd Cofon o mamaghi, wamply



7. The isotope used in brain scan is

a) H' b) o' g} oM d) wilg'™
waa daniadpl uudufd gGerdom
a) /H’ b) «C"' e) oC" d) mHg'"
B. Cobal-60 & used in the treatment of
a) brain b} kidney ¢} cancer db hyper thyroidism
Canumd - 60 ey mlerCemd dpsarL ehs womdgeddib vwduBdo g7
a) ppanan b) Apdyss <) yppSpm d) e wiemsrml @ Geudund
9. Anexample for Frenkel defect is
a) Mall b} AgBr ey Call dh Fes
il Qad mepunciype eray
a) NaCl b) AgHr ) Csil d) FeS
10. For reversible process, which is true?
o) A5 is positive  b) AS is negative  ¢) AS Is zero dj As is infinitive
SarGrudypmpis g sfiunag?
a) AS Cpf il e wg by AS et fufBaLwug
) AS pgunb d) AS ppwailarggy
11, The catalyst used in the manufacture of S50 &
a) moist Y30y b dry V:0, ¢} porous V50, d) Fe

Qupwaralld S0; gurfifscld vuauREsOLGD aamaCas wor fhfl
alwrorer V0o bl eefps V0. o) pergeeydrar Vo0, d) Fe

12, State of chemical equilibrium is
a} dynamac b) stationery ¢ none d) both

Cagé suflow g
ih @udig sofles b) foourey ) gapuiibes db Sy i (Gub

13. Arrhenius equation is

!F ELA¢-I.“T b: kaHEIT"EI E'] k.—."-l:".':a d: t=|3|.t“1T
oot gl eflwdy sweaumy
‘:' k-ltﬂ'.l.t“ hj E-M.IJ I."i E_M-hhl d-b k=J'I.EhiT
I4. The activation energy of o reaction can be lowered by
a) Lowering temperature b) Removing products
¢} Lowering pressure dj Adding o catalyst
o0 aleaudls dateylend g ipd cdanp gapisiupdpg?
1) Gulufeamud gepdsd bl aleatunmasme fimpd

) Bpisiomad pepisd d) afmanyddleowud Crigsd



15, The catalyst used i the hydrogenatwon of vegetable oils is

a) Fe hi M ¢l Mo d) Ni
STl TarEamaL SEpLTRE FHp Weluh alemeids vudauBigouin
alemlas wrpf
aj Fe by c) Mo ) M
6. The colowr of nickel sahs are
) yellow b red ) green ) blue
dlésd e Oysar _ flpb Gerer. e !
) wghs dr bl flaudy ) udme d) ek
s 17, An example of buffer solution is
ap CHOCHYH and CHLCTC) b) HCl and Na('l
) MalH and WNaCl dj WHLOH and NHLCI

prilad amrogpids ahpdan.§ agy?
a) CHyOOOH and CH,COC] b} HCl and NaC'l

¢ Mal¥H and NaC'l dy MHOH and MHLCH
L&, Which of the following is least acidec”

ap CH-OH b CHyOOOH €) CaHOH d) CICH,COOH

simaphs sflofsdan acuy ag?

a) CaH«OH bj CHyOCRODH ) CaH«OH di CHCHOOO0H
19, Amhranilic acid is

a) o= amino benroic acid b) p- amino beneoic scid

¢} o-hydroxy benzoic ackd d) m- ammo benzoic acd

A breadd pufen adugy
1) o- pflemn Quearerufld gubleb bl p-aafiGanr Cuaemuld pufleb
o) o-maplyndd Qudrsmuild seflad  d) m-$ufGen Guersmdld sadlebd

20, Primeary amine acts as
a) eletrophilic b} kewis base ) bewis acid d} free radical

gflemary gufler Geruduio allgn
n) Qs nen sei soyefl b)) gl sopk o) gudl spdled  d) gefl iy

21, An example for simple ether is
ap CaHi=0= CuHs b)Y CHp=0=CH:CHy ) CyHa-0-CH2CH: ) CHy-05- CaHy

waf FEméEs afigisn.
a) CeHs-0- CgH: by CH-O-CH2CHy ) CaHs-O-CH2CH3 ) CH3-00- CeHy



2. Chioral belongs 10 4 group of
a) abeakal b) aldchvde

¢} ketone d) ester
& Gemrnd Tha mmamiud ﬂ'-ll!'ﬁ.i?
i) mdagnad b < g analf ¢l e Gumer d) edo g
<3 NOy' is called
a) nilrite ion b nitro jon C) nArate jon d} nitronium jon

NO: svmpdatiogi algis :
) BT ] b) @pe Gy et .
¢ gl O s

d} g Cyrafiyh oL i

24, The number of primary alcobel group found in sucrose is
a)l b 2 ch3 d) 4
L
s4Crredld srecup ploey o dapned Csradsafics o ciranild s
a) | by 2 ch 3 dj 4
25. An example of o fatty acid ubtained from a cooking
a} acetic acid b} stearic acid €) berroic acid d) oxalic acid

f B --lirl-rl.'l'lﬂmu Qupdufd Qarpliy sulad?
) il & _sydlah B) dog il gyufled
) QuerCrmubd pufled d) g davralld paflad



